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OF—FJURSESESEE 44,000
03 A EES2LHIES 30,500 30,000 500
O HdcHE2ds gsX& 30,500
04 DIZHHALALSE E X 31,700 20,000 11,700
Os=08Uz 20,000
OYLBESHY 93 11,700
SHEMe 29 1,317,177 1,204,948 112,229
306 93 1,317,177 1,204,948 112,229
01 &= 1,317,177 1,204,948 112,229
OE=0HENMY =23 1,317,177
el & 5,445,260 5,138,115 307,145
2 82,576
J| 3,817,209
=) 1,545,475
ZEZLIoA ESAlE 2 XA 724,697 625,346 99,351
J| 619,696
< 105,001
308 X EHSOIA 724,697 625,346 99,351
J| 619,696
= 105,001
01 HIXNHHNBNEES 724,697 625,346 99,351
ONEZgIdikt E5Ad 29 579,336
J| 477,100
< 102,236
OJIZE = IIoH A &HH XI& 39,696
J| 39,696
OJE=4Ioi it HNgEad X 15,665
J| 12,900
< 2,765
ONEEHINA BESAE 84 Al HEXAS 90,000
Jl 90,000
ZZ4 Il ESAE JIsES 40,643 21,900 18,743
J| 27,095
< 13,548
403 A X EHHS 20l A 40,643 21,900 18,743
J| 27,095
= 13,548
01 X ESHHMA=E L 40,643 21,900 18,743
OJNE =Y INlohA ESAE JIsE 40,643
J| 27,095
= 13,548
M= Nk AEslE T2 ¥ o=y 102,389 97,665 4,724
J| 84,073
< 18,316
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05 QIZtR &2 2,000 2,000 0
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308 MXISHHMSOIA 100,389 95,665 4,724
J| 82,673
& 17,716
01 AXHHIMNEXS 100,389 95,665 4,724
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J| 59,770
= 12,808
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J| 22,903
& 4,908
IR 22 Jioik RRNESE20Y 29 19,208 19,208 0
J| 15,818
& 3,390
308 XAHXIGHHM SO0l & 19,208 19,208 0
J| 15,818
& 3,390
01 IXHHNIMNEXS 19,208 19,208 0
OJ}dZ4 Il At WdEX S 19,208
Dl 15,818
o= 3,390
IIEZ MEA 29X 542,551 504,463 38,088
J| 361,701
o= 180,850
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J| 361,701
= 180,850
01 AIXSHMENEXZ 542,551 504,463 38,088
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J| 95,040
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OZIHHE =TAHXNE dHES2 168
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SOOI GH X+ X & 274,872 215,397 59,475
J| 206,808
o= 68,064
308 XX SHHSOIH 274,872 215,397 59,475
J| 206,808
= 68,064
01 AIXSHMENEXZ 274,872 215,397 59,475
OXOHOHTIGH A A 29 124,677
J| 83,118
& 41,559
OXMOHOHIIHAF KRIRAIE 2 150,195
J| 123,690
o 26,505
SOH0H DIGHOIS HAUNANHS 70,500 35,987 34,513
J| 47,000
=} 23,500
308 MXISHMSOIA 70,500 35,987 34,513
J| 47,000
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J| 51,636
= 11,065
308 XHXIGHH SO0l & 62,701 37,643 25,058
J| 51,636
& 11,065
01 HXHHIMNEXZ 62,701 37,643 25,058
OSONOHIIGH K 22X ALY 62,701
J| 51,636
& 11,065
HEZ= Hgn=s 4,000 5,000 A 1,000
201 et | 4,000 5,000 A 1,000
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Od2=83 136646EH 22 30,000
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| 10,000
S 10,000
402 BI2FX=01 M 20,000 23,000 A 3,000
| 10,000
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Od2=83 1366MEH JIsES 20,000
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< 61,735
OodfibtetdIdEe (0tsd) 2L X 393,786
Il 324,294
< 69,492

oibtetdldle, =8Okt ES A4 Dl 43,939 42,300 1,639

el

| 29,292
< 14,647

403 MHXSHHSA=0l& 43,939 42,300 1,639
J| 29,292
< 14,647

01 HXSHMA=E X 43,939 42,300 1,639
OdittetdldEHe JIsE2d 37,961
J| 25,307
< 12,654
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J| 3,985
= 1,993
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= 2,885,592
< 2,313,026
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= 1,267,955
< 801,795
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= 1,267,955
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OMEHEH XNE2Y 1,190,860
= 1,190,860

HEFHAXAME X2 129,450 127,260 2,190

308 A EHHSOIA 129,450 127,260 2,190

01 AXSHBLELS 129,450 127,260 2,190
OWAEHINAEEH XA 97,950
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< 186,368
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= 226,368
< 186,368
ANEgds dEoiddRel AL (XA 124,400 118,800 5,600
307 glz2+ol & 124,400 118,800 5,600
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OXdggdst 3@ dLitel At 124,400
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= 200,409
= 165,209
307 21201 A 365,618 0 365,618
= 200,409
< 165,209
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=2 200,409
< 165,209
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307 21201 A 151,200 0 151,200
02 QIAFAAFEX 151,200 0 151,200
OUXNEEZOHE HEAALS LRl AL (XA 151,200
sl KA 20,000 20,000 0
307 21201 A 20,000 20,000 0
03 QIZtHNHE2HHEX 20,000 20,000 0
OAAGRAIZ 29 XA 20,000
HALIEEH 34,799,599 31,972,270 2,827,329
= 11,093,019
s 3,317,000
J| 14,811,848
< 5,577,732
A2ZNHE - U2 FXNdH 22 2,595,541 1,976,858 618,683
J| 1,996,570
< 598,971
308 XX EHSOIA 2,595,541 1,976,858 618,683
J| 1,996,570
< 598,971
01 AXSHHBLAEES 2,595,541 1,976,858 618,683
OALIE - U INEXNY SEHEH 23 2,595,541
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< 117,076
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J| 390,253
< 117,076
01 HIXNHHNBMNEELS 507,329 282,230 225,099
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J| 390,253
< 117,076
SSE0tUEH SAEL HRME 5,400 0 5,400
308 XXM SO A 5,400 0 5,400
01 IXNHHBNEES 5,400 0 5,400
OZs=0tUsEHALY SAHA HRHH 5,400
ss3sHd N 37,500 0 37,500
J| 37,500
308 XX EHH SOl A 37,500 0 37,500
J| 37,500
01 AXHHILEES 37,500 0 37,500
Oss3sH XN& 37,500
J| 37,500
JIE&EsE AtelEd x4 7,000 7,000 0
307 21201 A 7,000 7,000 0
02 It S AHE L 7,000 7,000 0
OJ=gs IsJ|2 =i XN 7,000
SHR2IIE ItHSY=EH & XA 11,357,370 10,534,861 822,509
J| 10,095,440
< 1,261,930
308 XX EHH SOl 11,357,370 10,534,861 822,509
J| 10,095,440
< 1,261,930
01 IXNHHBNEES 11,357,370 10,534,861 822,509
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SSHEIIIFFE(HLLU) =AHAXHA 49,100 48,200 900
J| 49,100
308 XXM SOIA 49,100 48,200 900
J| 49,100
01 AXHHILEES 49,100 48,200 900
OZSMEINHSE(HYAU) =FHAA 49,100
J| 49,100
stE2IE X & 240,096 253,044 A 12,948
308 MtXIEHMSOIH 240,096 253,044 A 12,948
01 HXNHHNBHEELS 240,096 253,044 A 12,948
OstR 2= eyl XI& 240,096
otolss XN& 10,611,717 11,110,487 A498,770
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2 181,860
< 90,930
FAdERR ots2dx ¥ NN 223,470 167,621 55,849
J| 198,640
= 24,830
308 XXM SOIA 223,470 167,621 55,849
J| 198,640
< 24,830
01 X HHBILEES 223,470 167,621 55,849
OFAHERE Ots2ds & NEXE 223,470
J| 198,640
< 24,830
dAg 0228 HEI2 2 38,820 38,382 438
J| 25,880
< 12,940
308 MtXIEHSOIH 38,820 38,382 438
J| 25,880
< 12,940
01 HXNHHBHELS 38,820 38,382 438
oYY DIE2RX HEII2 24 38,820
J| 25,880
< 12,940
Ct2stEXJdH 29 201,890 295,035 A 93,145
J| 155,300
= 46,590
308 XXM SO0 A 201,890 295,035 A 93,145
Il 155,300
S 46,590
01 IXNHHBHNEES 201,890 295,035 A 93,145
OUIeIIEXNALEH 29 201,890
J| 155,300
< 46,590
3NN HEEH 29 38,600 37,300 1,300
J| 19,300
< 19,300
308 XXIEHHSOIA 38,600 37,300 1,300
J| 19,300
< 19,300
01 XML EES 38,600 37,300 1,300
OUZIsIIEXNE HNBHH 299 38,600
Jl| 19,300
< 19,300
Ct2st0ts Sdetag 2,236,870 2,163,111 73,759
J| 1,720,669
& 516,201




AR HENEFIHB SAOEIIEIHP
Ha: B0l Y= 04, BES Fs OIE
Sl AANISH (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
308 XHXIEHSO|A 2,236,870 2,163,111 73,759
J| 1,720,669
& 516,201
01 AIXSHMEMNEX= 2,236,870 2,163,111 73,759
OUERIE EH3IAIY 2,236,870
J| 1,720,669
=} 516,201
ALNAE L USSINESNILAE SAXN HAL2MHE X 34,600 39,960 A5,360
%
308 XX SHHSOIH 34,600 39,960 N5,360
01 AIXSHMEMNEX= 34,600 39,960 N5,360
OHLINE & URSIIESXNSEEH SAHAN MR
pliRA] 34,600
HEIJISAMEANEH A 24 120,000 120,000 0
308 AMXISHMSOIA 120,000 120,000 0
01 AIXSHMENEXZ 120,000 120,000 0
OHEINEMNE MHIA 29 120,000
CO23ItE SHAXH (XA 122,541 135,300 N 12,759
308 XX G SOl A 122,541 135,300 N 12,759
01 AIXSHMENMNEX= 122,541 135,300 N 12,759
OUERSIE sHAEX S 121,041
OEYHIAXIAAN BExD=H 1,500
CIE23E K& 25,300 27,000 A 1,700
201 et 9| 14,900 16,600 A 1,700
01 AR 2t2l ] 14,900 16,600 A 1,700
OUESIE AAIX L2t 14,900
301 et A =2 400 400 0
09 SHAIAHI X &2 400 400 0
OUE3IE AAMX 3o EHAX AH EA 400
308 XAXIGHH SO0l & 10,000 10,000 0
01 HXHHIMNEXS 10,000 10,000 0
OUESSIE - AZIHE XS A2 &§sH 10,000
CI23otE stots sH K& 15,000 15,000 0
308 MXISHMSOIA 15,000 15,000 0
01 AIXSHMENEXZ 15,000 15,000 0
OtUesi=E stots =M A 15,000
CtetNsE4dEe EXH XIS 1,015,000 975,546 39,454
= 835,000
& 180,000
403 XX SHHS K201 & 1,015,000 975,546 39,454




NE RN -BIEF L SN HENERB
M B0 U= 64, =2 F= IS
ool AUNIRY CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2

= 835,000
& 180,000

01 XIS A=Z2E X 1,015,000 975,546 39,454
OUEMN =AY 1,015,000
= 835,000
= 180,000

Ctetnssde oAl A 909,636 496,692 412,944
= 649,740
=} 259,896

308 MXISHMSOIA 909,636 496,692 412,944
= 649,740
=} 259,896

01 IXHHIMNEEXTZ 909,636 496,692 412,944
OUEMN =S AY 909,636
2 649,740
= 259,896

Chetnssde 29H X 61,740 34,020 27,720
2 44,100
= 17,640

308 AXIEHSOIA 61,740 34,020 27,720
2 44,100
o= 17,640

01 AIXSHMENMNEX= 61,740 34,020 27,720
OUEMN =AY 61,740
2 44,100
= 17,640

SHE 2= 2XA4E Ol0l=EAHA NS 108,082 122,177 A 14,095
J| 95,769
& 12,313

308 XAXIGHHM SO0l & 108,082 122,177 A 14,095
J| 95,769
= 12,313

01 HXHHBIMNEXS 108,082 122,177 A 14,095
OstE2IIE SXA4E ololssSAblA X& 108,082
J| 95,769
== 12,313

bEHEH A8 3,917,000 2,800,000 1,117,000
= 3,317,000
o= 600,000

403 XX SHHMS K201 A 3,917,000 2,800,000 1,117,000
hag 3,317,000
o= 600,000

01 IS RS2 X 3,917,000 2,800,000 1,117,000
OJIEHEH HE 3,917,000
g 3,317,000
& 600,000
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AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

< 38,745

01 IXNHHBNEES 124,845 124,845 0
O&FAE HS80te 22X & 124,845
= 86,100
< 38,745

Fa4d Sotel 2sX& 55,825 55,100 725
= 38,500
= 17,325

308 XX EHHSOIA 55,825 55,100 725
= 38,500
< 17,325

01 X HHILEXS 55,825 55,100 725
O&dA4E Sotel s 55,825
= 38,500
< 17,325

HAESEAE XS A XA (XH) 220,824 197,520 23,304
J| 220,824

308 AHAIEHHSOIA 220,824 197,520 23,304
J| 220,824

01 HXNHHNBMNEELS 220,824 197,520 23,304
OFAESHAE N A K& 220,824
J| 220,824

Fad 29233 29 17,000 17,000 0
J| 17,000

308 XXM SO0 A 17,000 17,000 0
J| 17,000

01 IXNHHBNEES 17,000 17,000 0
OFaY 2EA3s =29 17,000
J| 17,000

FA4E gFdus ZTZ0HY 314,286 286,000 28,286
= 220,000
= 94,286

307 21201 A 314,286 286,000 28,286
= 220,000
< 94,286

11T AR SXAIEE = 314,286 286,000 28,286
O&¥AdE gZdus 22 314,286
= 220,000
< 94,286

SZEAHSEANE JIsSEL(HE-HEAMY) 1,000,000 784,000 216,000

401 A& HIZ 201 I 1,000,000 784,000 216,000

01 A& tI 994,000 784,000 210,000
OZ2SEadEHANE JIsE22 994,000

03 A& =2 THHI 6,000 0 6,000




CEEBIET e SN R BIE L
PNEE PR
HAUAFS Y (SHol: @)
- _ _ RE]
SA - B .G (3H) - AEAY - BYS Ofl At o4 %Eﬁ HR=2
OZ2Z22FAUELHANAE JsEZ 6,000
2Z2HAESBALE JSEZL(NI-TSAY) 4,387,000 4,103,000 284,000
403 XX SHHS K20 & 4,387,000 4,103,000 284,000
01 XIS AZ2E X 4,387,000 4,103,000 284,000
O3 AELEHAE JIsE22 4,387,000
NoHstsEd 29X 100,000 100,000 0
307 QI2t0| ™ 100,000 100,000 0
05 QIZtREZ 100,000 100,000 0
OXssa 22X 100,000
HAEXNEA HLIHAH K& 189,360 185, 280 4,080
307 212t0| & 79,200 79,200 0
03 IZEHY P ESIHIEX 79,200 79,200 0
OFALAEXNEX MRIMAH X (=2H) 79,200
308 XNHXIGH SO0l & 110, 160 106,080 4,080
01 AIKISHHENMNEXZ 110,160 106,080 4,080
OFAMEAXNEA MRMEH XS (KH) 110,160
HAEAE BHAMESE XS 358,350 322,500 35,850
= 238,900
=} 119,450
308 MXISHMSOIA 358,350 322,500 35,850
= 238,900
& 119,450
01 HXHHIMNEEXTS 358,350 322,500 35,850
O AE BAHAMEE XA 358,350
= 238,900
& 119,450
HAadE I 2sKASAY 10,000 10,000 0
307 2I2t0| & 10,000 10,000 0
11 A EXAIEEX 10,000 10,000 0
OFAYE EFOWHIF ESsAIAYE 10,000
ANHsSES2 Js2d 66,000 64,000 2,000
402 SI2FXHE0| & 66,000 64,000 2,000
03 QI 2t EF AN HI 66,000 64,000 2,000
OXNAES S 2K elAE JsEd 66,000
HESsSHE 6,904,618 6,560,481 344 137
= 61,611
J| 4,953,542
&< 1,889,465
HA2eHEH 2 XA (2H) 311,724 309, 104 2,620
J| 155,862




M ox
40 5 4

T S IENCEEBIE

el

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
=) 155,862
307 glz2tol & 311,724 309, 104 2,620
J| 155,862
& 155,862
10 ALSISXAIEEE 22X 311,724 309, 104 2,620
O4d2stdlH 2SN (DEEH) 155,862
J| 77,931
< 77,931
O42stdle XN (01sH) 155,862
J| 77,931
= 77,931
HI2stde 2GR (XH) 77,931 77,276 655
J| 77,931
308 AHAIEHHSOIA 77,931 77,276 655
J| 77,931
01 HXNHHNBMNEES 77,931 77,276 655
Od=3dH 22X 77,931
J| 77,931
dU=s st 24 13,500 13,500 0
307 glz2+ol & 13,500 13,500 0
11T MIEXASEX 13,500 13,500 0
O&I=E NEEsIH ¢4 13,500
FAdERoSZZAE NFEAs 29 4,000 4,000 0
= 2,000
= 2,000
307 21201 A 4,000 4,000 0
= 2,000
< 2,000
11T M3 SRAISEEX 4,000 4,000 0
OFadURHSIZAHT KNGS 2HXA 4,000
= 2,000
= 2,000
ARSI ZAHE 2Y 10,500 18,000 A7,500
= 7,000
< 3,500
308 AXIEHSOIA 10,500 18,000 A7,500
= 7,000
< 3,500
01 HIXNHHNBMNELS 10,500 18,000 AT7,500
OFAERNSIZAE 2L 10,500
= 7,000
< 3,500
AW HH SYNA(NY) 224,236 212,700 11,536
J| 112,118
< 112,118




NS L S IENCEEBIES EE
M MAEA2AG
Chel: EAEBsSHEE (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

307 glz2tol & 224,236 212,700 11,536
J| 112,118
< 112,118

10 ALl SXAIEEE 2 H EX 178,436 171,900 6,536
OAdEEH 2EXE 178,436
J| 89,218
< 89,218

11T M3 SRASEEX 45,800 40,800 5,000
OFadad 2gAY 45,800
J| 22,900
< 22,900

HAE &HH 2N (XEY) 1,075,439 1,022,130 53,309
J| 827,261
< 248,178

308 At EHHSOIA 1,075,439 1,022,130 53,309
J| 827,261
< 248,178

01 HIXNHHNBMNEELES 1,075,439 1,022,130 53,309
O3AdEEH 2EXE 1,075,439
J| 827,261
< 248,178

HAHONMY X (YY) 409,090 407,760 1,330
J| 204,545
< 204,545

307 glz2+ol & 409,090 407,760 1,330
J| 204,545
< 204,545

10 ALSISXAIEEE2EHEX 306,820 306,048 772
OF BAHNNY RE2Y 306,820
J| 153,410
< 153,410

11T ALSI S XA E = 102,270 101,712 558
O AUt IS ALY 102,270
J| 51,135
< 51,135

HAHONY FH(XH) 588,960 589,080 A120
Jl 588,960

308 XXIEHHSOIA 588,960 589,080 A 120
J| 588,960

01 HIXNHHBNEES 588,960 589,080 A 120
OANT BAUEHML REALY 588,960
J| 588,960

FAEAEXEAY 573,630 561,298 12,332

307 21201 A 573,630 561,298 12,332




AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

10 AL SXNAIEEE2EH EX 518,630 506,298 12,332
OFAHME=ENHEH 2 518,630

11T M3 SXAISEEX 55,000 55,000 0
OFLTIHYEXE ALY 55,000

FAWE g MY 2 10,000 10,000 0

307 gl2tol & 10,000 10,000 0

11T ALS S XAEE = 10,000 10,000 0
OFAY HelddH 29 10,000

SHNZZIHE2INA (YY) 104,390 103,600 790
J| 52,195
< 52,195

307 i+l & 104,390 103,600 790
J| 52,195
< 52,195

10 ALSISXAIEEE 22X 104,390 103,600 790
O s Z208 28X & 104,390
J| 52,195
< 52,195

SUNEZRIBSYXA(X) 376,665 330,830 45,835
J| 376,665

308 XX €A S0 & 376,665 330,830 45,835
J| 376,665

01 AXHHILEES 376,665 330,830 45,835
OAlZ sEtt 2208 2F X3 376,665
J| 376,665

st gt HAE X2 (HAY) 353,380 351,966 1,414
J| 247,366
< 106,014

307 gl2tol & 353,380 351,966 1,414
J| 247,366
< 106,014

10 AL SXAIEEE2EH EX 228,480 220,040 8,440
O & & F24@ XNIMY 2 228,480
J| 159,936
< 68,544

11T MISAASEX 124,900 131,926 AT,026
Ok st & HA4d XNIAMY 124,900
J| 87,430
< 37,470

st % AW X (KA) 919,618 887,334 32,284
J| 919,618

308 MtXIEHMSOIH 919,618 887,334 32,284
J| 919,618




AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2

01 AXSHHBLEES 919,618 887,334 32,284
OAlZ & % #2248 X& 919,618
| 919,618

17t =AM DHAEH 29 (HY) 75,066 67,706 7,360
| 68,266
< 6,800

307 21201 A 75,066 67,706 7,360
| 68,266
< 6,800

11 AISI S XA E X 75,066 67,706 7,360
ONM7etZHMNHH 29 75,066
| 68,266
< 6,800

FLESENA A (XE) 52,960 52,960 0
J| 52,960

308 XX EHH SOl A 52,960 52,960 0
J| 52,960

01 AXSHBLELS 52,960 52,960 0
OANZ HAUEEXA AY 52,960
| 52,960

dad@ gus 23 1,491,063 1,392,337 98,726
| 1,146,971
= 344,092

308 XXM S0 A 1,491,063 1,392,337 98,726
| 1,146,971
= 344,092

01 HIXNHHBNEES 1,491,063 1,392,337 98,726
O&Fad &z 3XH 1,491,063
| 1,146,971
< 344,092

stn=Ey AAE XNJAMEH(XE) 57,366 56,980 386
| 57,366

308 XXM SOIA 57,366 56,980 386
| 57,366

01 AXHHILEES 57,366 56,980 386
Ogn=Eg A5 NJMdH 57,366
| 57,366

UHY S YDA HRAY(HE) 70,148 69,536 612
2 35,074
< 35,074

307 21201 A 70,148 69,536 612
= 35,074
< 35,074

11T ALS S RAEE = 70,148 69,536 612




AT I SN OHERE
SRR PN
Chel: EAEBsSHEE (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
O 5= MEHF A BIXI ALY 70,148
= 35,074
< 35,074
Y == HGAGA HXIAMS(XR) 35,074 17,384 17,690
= 17,537
= 17,537
308 XXM SOIA 35,074 17,384 17,690
= 17,537
< 17,537
01 X HHBILEES 35,074 17,384 17,690
OQHY &= MdEaEA BIXIAS 35,074
= 17,537
< 17,537
st gt HAE 24 KB (2Y) 8,840 0 8,840
J| 4,420
< 4,420
307 21201 A 8,840 0 8,840
J| 4,420
< 4,420
11T AL S XA E X 8,840 0 8,840
OF stus HAE SAY N 8,840
J| 4,420
< 4,420
g1 g HAW ZAH XA (KA) 61,038 0 61,038
J| 61,038
308 X EHSOIA 61,038 0 61,038
Jl| 61,038
01 HIXNHHBNEES 61,038 0 61,038
OAlZ stus 4@ AH X 61,038
J| 61,038
HE2LAIH(HLIIEZE ) 146,749 122,273 24,476
el 2 60,370 35,894 24,476
ol 2AH| 60,370 35,894 24,476
101 124 dl 60,370 35,894 24,476
03 RIAHAZZ2TE = 60,370 35,894 24,476
OodeL2d 60,370
- B 60,290
s 1,819,710 1201 & 2 43,674
oF 02, EU2R LY
10,240 x150%* 15A1 2bx 1201 & «2H 5,530
Xt 10,2403 «BAl 2t 152 +2H 2,458
- HE SO 1,819,710& x60%*23] x2H 4,368
s 40,0003 x12& 1Y 480
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